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SCHOLARS ACADEMY

[ General Knowledge }

1. URd B FUMI-2011 & AR WARG TGS
Frafafed e g 4 9 f5as gof 1182
As per Census of India - 2011 which of the following pairs
of cities recorded the highest population ?

(a) e ud AT Dethiand  (b) Tl SR HIABICT Delhi

Chennai and Kolkata

(c) ﬁ('_vﬂ@ﬂaéDelhiand (d) Hﬁ%@%ﬂ_gMumbaiand

Mumbai Chennai

2. YR & oal 3R MR y=N B e i fra
St # gt frar man @2

Which Schedule of the Constitution of India lists the States
and Union Territories of India?

(a) Ugdl SIgl First (b) TR I Second
schedule schedule

(c) R S Third (d) Tt ST Fourth
schedule schedule

3. UERTATRTS &1 U A aTen UYH W S B
Ur?
Who was the first Gupta ruler to attain the title of
Maharajadhiraja?

(a) =Tt Chandra Gupta (b) IHKIW Samudragupta
(c) PHRIW Kumargupta (d) P Skandagupta

4. IGR & g # gewig TN g1 Fufafea & 9 fea
ST Y uRTiora fopam mar ur?

Which one of the following kings was defeated by
Muhammad Ghori in the Battle of Chandawar?

(a) GERTSI AEH PrithviRaj  (b) ST T Jai Chand
Chauhan

(c) W1 11 Bhima 1l (d) PHRUIT Kumarpal

5. 1857 & fa5Ig & SR 9gIgY 2ME A fHA AEa-g-3may
qgTIgY 31 f&are faar ure
Who among the following was bestowed with the title of
'Saheb-e-Alam Bahadur' by Bahadur Shah during the
uprising of 1857?
(@ AT T8 Nana Saheb
(c) d¥%d ™I Bakht Khan

(b) TR FIfCR Birjis Qadir
(d) drar ey Tatya Tope

6. Who among the following was the President of the Central
Legislative Assembly in August 1925?

gmzsﬁ%’»‘ﬁuﬁm@nma{m&rmﬂﬁﬁ

O

(b) HIATE 78 Motilal

Nehru
(c) TH. 3R, SAHI M. R. (d) fIEAUTE UCT Vitthal bhai

jaikar Patel

7. Fafafaa & @ it 3t g9 7 saragE F9-@
AT STt @ (e A iR e g F e |)2
Which of the following is considered to be the largest
volcano on Earth (in terms of its mass and footprint)?

(a) T 3R. NI C.R. Das

(@)

(©)

(@)
(©

(@)
(©)

10.

(@)
(©

11.

(@)

(©

12.

(@)

(©)

13.

(@)
(©

14.

IS S UATS! Ojos del  (b) AT faGfATH Mount

Salado vasuvius

?‘I'I'ﬂﬁmhmu massif (d) T BT Mauna Ke

Sferor smifveT & weg-sieri=ia U & Ae™ &1 /1 A1
2

What is the name of mid-latitude grassland in South
America?

SR prairie (b) YHTH Ppampas

I Weld (d) XU Steppes

gsmrﬁsﬁm-ﬁggauﬁﬁwmmw@m

Mahatma Gandhi Hydropower Project is situated on which
waterfall?

§S¥ Hoodaroo (b) UTIDBRI Pykara
ST Jog (d) TRITEYEH shivasamudram
U BT TP FU g FoHH 51 IHeb! P

TG HRal gl
is a form of governance in which the public
elects rulers.

ﬁ@-‘ﬂ Autocratic (b) TSI The royalist
WAIHhdiA® Democratic (d) SHfIBRATET Authorities

fFrafafad & ¥ @19 Y B0 & & # YRa & Jai=
TR ?

Which of the following is the highest organization in India in
the field of agricultural credit?

SEISTREIREIEETN (b) Ryset (Wit g Segm
T faer e ) fa@Ta §% ) siDBI (Indian
NABARD (National

Small Industries
Agricultural and Rural Development Bank)
Development Bank)

U%ﬁ:réa Exim Bank (d) ﬁﬂ%’(uﬂ‘cﬁuw@u?ﬁr
JgpR] fauurH ¥u
fAIffeS ) NAFED (Indian
National Workers

Cooperative Marketing
Association Limited)

BT 3 3f el SHpT g Rt g R

'Hope in a Challenged Democracy' is written by

TH. IRWT HIZA M.

Veerappa Moily

ST, 31f&H1 $HR Dr.

Ashwani Kumar

(b) a1 AR Sunita

narayan
(d) GlﬂTf?-ITT\Iﬁq Anuradha Roy

Frafafea & @ fra srgde # sftsar &1 yra Wt wa1
TaTg ?

In which of the following articles, India has been called
Bharat?

TG 1 Article 1 (b) 3G 2 Article 2

TG 3 Article 3 (d) 3G 4 Article 4

?@lﬁ@aﬁﬁﬁmﬂzﬁw,mamﬁa%mw
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@
(©

15.

@

(©

16.

@

(©

17.

@

©

18.

@
©

19.

@
(©

20.

@
(©

21.

@
(©

22.

@

In which of the following is the magic, miracles and spells

given in the Vedas?
(b) HTHAE Samaveda

Fide Rig Veda
q@a-?ZYajurveda (d) 3{Yddg Atharvaveda

TG YRT W g3MT, 39 90T 7S & YUHA P19 o
?

When India became independent, at that time who was the
prime minister of England?

faferam afess william (b) TR BRE Warren
Bantric Hastings

qrie 4R Margaret (d) Tﬁﬂﬂ'UEQEFﬁCIement
Thatcher Attlee

T AreT T IS AT TR

What is the chemical name of baking soda

QST BEAT sodium ~ (b) JSTH I1Z AT
carbonate Sodium bicarbonate
I STH FARTES Sodium ~ (d) FISTH ATSCE sodium
chloride nitrate

TR 3 faere (&R Tee), 8 -

The most common bleaching agent is -

PSS ATHRIZS Carbon (b) TeHIEd Alcohol

dioxide

ARM Chlorine (d) AfSTH FIRZS Sodium
chloride

ﬁ»‘awmmww qr?

Which ruler was named prince Khurram?

TESTET Shah Jahan (b) U Jahangir

TSR Babar (d) 3{PeR Akbar

o 2Te &1 A weAtw AT 2

Which ruler was named Salim?

TR Babar (b) §TITC:[:Humayun

SRR Jahangir (d) 3{PeR Akbar

AT IWR H 11 a4 TST S HIH-ATE ?

Which is the largest internal organ in the human body?

®QY heart (b) HRTSH Brain

gdhd Liver (d) ddd Kidney

The former princely state Nahan is part of which State now

ﬁﬁmmmmmmﬁwé?

Punjab TSIl (b) Haryana gRATON

Uttarakhand 3TRIES (d) Himachal Pradesh IFEIES]
EERY

Who founded the Home Rule League in Calcutta in 1916

A.D.?

;%mqsﬁﬁﬁaﬁnﬁiﬁwwz-ﬁﬂaﬂwwmﬁ
(b) Arvind Ghosh 3Rfa=< 9

Bipin Chandra Pal faft=
EELIN]

(©)

23.

(@)

(©

24.

(@)
(©)

25.

(@)

(©
26.
(@)
©
27.
(@)
©
28.
(@)
(©
29.
(@)
(©
30.

(@)
(©)

31.

Lokmanya Tilak AHHTT (d) Mrs. Annie Besant ottt
INNED '
Who started the first English newspaper in India ?
YR ¥ Ugar iUl e fore= 3= farar um?
Bal Gangadhar Tilak §TcT (b) Raja Rammohan Roy X4
TeR fad® AT
J.A.Hickey @.H. Rt (d) Lord William Bentinck KIS
Which of the following can a court issue for enforcement of
Fundamental Rights?

ARPRI & yad= & forg Fufrf@a A s ar
AT WRT H qHdl 82
A decree Udh hXHH (b) An OrdinanceWG{?HIa'QT
A writ T Re (d) A notification Th
Bills of which of the following categories can be initiated
only in Lok Sabha?
Fafafea 4 3 e 9oft & 9a saa asau d =
s a®a g2
Ordinary Bill HTYRUT (b) Private Member Bill K]

fadge e a0
Money Bill ¢ fadas

(d) Constitution Amendment

Bill Hfaem TxneA fadas

Which of the following rivers makes an estuary ?
e § @ #19 dt 7 te saRadha a9 82
Cauvery HIa (b) Krishna I

Narmada THaT (d) Ganga 7T

The longest river of Peninsular India is :

TG WRd o1 9 ddl 141 8:
Narmada TTHGT (b) Godavari TGTaRY
Mahanadi H8Mg! (d) Cauveryav"laﬁ

The 'Pong Dam' is constructed on the river

i A P Aft WA A ®
Ravi XTdT (b) Tapti arait
Beas U (d) Son IH

Inflation redistributes income and wealth in favour of :

YEBIfa , 3T 3R 49 BT GAfdaror....... A S §:
Pensioners UMY (b) Poor TR

Middle class T aTf (d) Rich &=t

The period of revolution of a geostationary satellite is

T YRR ITIE B gui Ft @iy @
365 days 365 fea (b) 30days dafea

24 hours A& g¢ (d) Changing continuously
IR CREEE

Impure camphor is purified by

AYSE PR ......... TR Y fparsran 8
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(a) sublimation %¢dUTdd (b) fractional crystallisation

fiaTd® fediamR

(c) fractional distillation (d) steam distillation HTJ
3ifRTep SrEaT NIREE]

32. The acid rain destroys vegetations because it contains
3ty quf qawfaal &t 99 #7 dt § wife gad
RUIE T E

(@) nitric acid W@g

(c) carbon monoxide TE
BIEIEICNIES

(b) ozone 3ST
(d) sulphuric acid ﬂm
R

33. Cancer is a disease where we find uncontrolled

?ﬂ?wﬁﬁm%ﬂ'ﬁsﬁaﬁﬁﬁa LICH]

(@) cell division ARG (b) cell swelling DIRADT DI
[CRICE] o

(c) cell inflammation CAIRED (d) cell deformity PIRADT
e fagpfar

34. Normal fasting blood sugar level per 100 ml of blood in man
is
A3 | uid 100 Riefielier o § Q=g SUAR I
AHATRE

(3) 30-50 mg30-50 A (b) 50- 70 mg 50- 70 FHUT

(c) 80-100 mg 80 - 100 (d) 120 - 140 mg 120 - 140

et

35. Cadmium pollution is associated with :

UGUUI__ F UGS S:
(@) Minamata disease IGREIGI (b) Black foot disease HIA W
AT DI AR

(C) Dyslexia f&TfRTaT (d) Itai - itai SCTS - 3TS

36. YRd WPR A A ¢ ¥ {59 99 & gaigy Uieared
W LE B2
In what name has the Government of India recently
launched the Invoice Promotion Scheme?

(2 WfSamRIgH (ORERICEEREEIREar
Mera bill mera haq Mera bill mera adhikar
(c) WRIfed < uger (d) THIDETE

Mera bill nayi pahal none of these

37. a3 fay ®Y 2023 F1 er5ed fryg Raarst 3 sfiar

Which player won the title of Chess World Cup 2023?

(@) fagmE smg (b) WA WIFTH Levon
Viswanathan Anand Aronian

(c) PIT PTG Magnus (d) 3R WHMEIR.
Carlsen Praggnananda

38. BT g1 ¥ Fel 33 Wl SfeUT sl T Igute fHar w

%? Where have 33 Khelo India centers been inaugurated

recently?
@) B'h'qTU'ITHaryana (b) XTSI Rajasthan
(c) 3 352 Odisha (d) P Kerala

39. ke TiusT A fhaq dier & 4t & Ay Uy Sifi®
2024 % ﬁl'l'{ @'I?ﬂ"-'ﬂ'éﬁ"m%? Neeraj Chopra has qualified

for Paris Olympics 2024 with a throw of how many metres?
(a) 88.77 e 88.77 m (b) 88.55 Tiex 88.55 m
(c) 88.00 HIcR 88.00 meters (d) 88.33 MieX 88.33 m

40. 699 TP fhe a1 # S WiR fibed &1 oraTs fpw
foeH & fIAT? Which film won the Best Feature Film
Award at the 69th National Film Awards?

(@) WM<q X 349 48 sardar (b) %"a%ﬁ Rocketry

Udham Singh
(c) & PR B The (d) TETS SIfSHTaTS!
Kashmir Files Gangubai Kathiawadi

41. WSS 1Y TAd&UI-2023 & '10 WG I HfUF SMETy
FHT H ugar W 5w e 3t fAdT 82 Which city has
got the first place in the 'More than 10 lakh population’
category of Clean Air Survey-2023?

(@) ¥R Indore (b) YT Bhopal
(c) SIRT Agra (d) STIUYR Jaipur

42. T4 & ¥ URAN RS smvia g gl 3t 25
Hex wyf # ®19 91 ugP S %? Which medal has

Indian shooter Amanpreet Singh won in the men's 25m
event recently?

(a) WUl UCH Gold Medal
(c) PRI UGH Bronze medal

(b) XSIdUQP Silver Medal
(d) aﬁ_sc:rﬁnone

43. BTA S A Ao A P8l a1 A ga1 # AR A arell fArmga
DI Ihd "T\PT&I'UT foar %? Where has Tejas successfully
tested the air-to-air missile recently?

(a) XISTRT Rajasthan (b) Gh%'Q'ITOdisha
(c) 7T Goa (d) aﬁ_sc:rﬁnone

44. HRT A PT Qe feaw ufvad wa wmar o g

When is National Sports Day celebrated every year in India?

(a) 27 3T (b) 28 AHTXd
27th August 28 august
(c) 29 AT (d) 30 3T
29 August 30 august

45. ﬁm%mu@ﬁmﬁwﬁ%ﬂwaﬁﬁmﬁ

Which country has hosted the first 'Karnataka Cultural

Festival'?
(a) T (b) Sddr
Maldives Sri Lanka
(c) URds (d) HeH
Thailand Bhutan

46. 5a A it & AR T Geara o1 & Ty TUFAr
I R gwier fbar ?

Who signed an MoU with Germany's professional
association football league?
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(@) HERTY WXHR (b) ac'_vi GIDhR
Government of Maharashtra Government of Delhi
(c) Golld TRHPR (d) PUICH IWPR

Government of Punjab

47.

@
(©

48.

@

©

49.

@
©

50.

@
©

51.

@
(©

52.

@
(©

53.

Government of Karnataka

frg 3z ¥ Sige Afad TRRaREY S15e WR-23 &1
M fHar SRT? In which country Joint Military

Exercise Bright Star-23 will be organized?

1Y France (b) _g'ﬁ?aTurkiye
DX Qatar (d) A Egypt
e & P § g gt IR Ui 9 &

Cavcacicy AT T 8?2 Who is the President of
Zimbabwe who has been re-elected for a second five-year
term?

WWTPGT Emmerson (b) ¢ TR Robert Pereiro

Mnangagwa
a_clﬁ\_fﬂzﬂjacob Zuma (d) ﬁﬁﬁaﬂéﬁnone of
these

BIET A {5 AT & Peara TgEY I dabTd YT 3 o9
Bcl ﬁ'QT %? FIFA has lifted the ban from which country's
football federation with immediate effect?

STAPT Sri Lanka (b) U Pakistan
SIYT Japan (d) P-ISI Canada

IIAYT & UG T e-Es A 5 8 wmwal
Taeft =t afafe &1 gew g foear &2 Rajya
Sabha Chairman Jagdeep Dhankhar has nominated whom
as a member of the Standing Committee on Home Affairs?

g et Rahul Gandhi~ (b) TRUTTTIER Varun Gandhi
Ut fIdsRY P Chidambaram (d) oI I3d Sanjay Raut

[ Reasoning ]

R voR @iy @1 d¥y w@eg A ¢, I R
T 1 ey fFad g 2

Which of the following is related to Melody in the same
way as Delicious is related to Taste?

qlq Memory (b) 3T Highness
S Tongue (d) S3{TdIST Voice

fFrafafaa few v wen year # yyaree [ ) &
R R B -Gt wem gt 2

Which number will come in place of question mark (?) In
the following given number series?

9590 80 65 ?

55 (b) 50

45 (d) 40

u® AT e # cHiton B iHenoT foraT s € | 3@t
P W DILATE B 9 forad »

In a certain code, CHITON is written as IHCNOT. How DILATE
is written in the same code?

(@)
(©

54.

(@)
(©)

55.

(@)
(©

56.

(@)
(©

57.

ETALID
LIDETA

(b) LIDATE
(d) ETADIL

BEAN @T NEAB ¥ 3R SAID T DAIS ¥ Ig! Jay g, o)
LIME BT fPaa g 2

BEAN is related to NEAB and SAID is related to DAIS, so
LIME is related to ?

MLEI
EIML

(b) ELMI
(d) EILM

TSP al P TF FAR A AN BRI 11 IR™IF R E
| FaT¢ fF 59 Har A o fra- asferai g ?

Priya is 11th from both ends in a row of girls. How many
total girls are there in that row?

22 b) 23
20 (d) 21
oI - gen o, Sdqa iRk rysr & emdt 3 2

Which of the following number come in square, ellipse and
triangle?

1 (©) s
6 ) 7

= vd® we/uy g § &Y a1 9 HYF 3R 3P a1g
3 farse | 3fik 1 R Tu €1 simues) fRw e Y Sy &1
I AT 8, WA g 3 wdya a8 e
et & ufe, fp= au Fie f Fi9 a1 fasey fog
M HYH HT dTHETd U A FJERU Rl 8, IR
a9 5o Wl

DY :

POAS AT 3 -

PO UG AR -

Tt frare 2@ @ -

ey . o fPamaw g -

. 3o fraa s e -

In each question / question group below are given two or
three statements followed by two conclusions | and Il. You
have to take both the given statements to be true even if
they are different from the commonly known facts, read
both the conclusions, then decide which of the given
conclusions logically follows from the given statements,
irrespective of the commonly known facts.

Statements:

Some blades are knives.

Some knives are tables.

All books are tables.

Conclusions:

I. Some books are knives.

Il. Some books are blades.

(a) IfS Fad FHY | IR (b) TfS FHad F5HY 11 SR
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(©

58.

@)
©

59.

@
©

60.

@

(©

61.

WT%I If only conclusion W_cﬂ%l If only conclusion
| follows. Il follows.

gfe aral fsey 14 (d) kT AES T

SITRUI HRAT G| If either RO HRAT S| | If
conclusion | or Il follows. neither conclusion | nor Il
follows. .

TS HiRdl P 3R UPHd Hd gU T A FgT, * IS
i, B TR & sHdid G ¢ | A I Afger @
frayeRwaRae

Pointing to a woman, Ramesh said, "Her father is the only
son-in-law of my father-in-law." How is Ramesh related to
that woman?

fUdT Father (b) M uncle
Fo Cousin (d) 3MHS MR ] Data
Insufficient

afg x &1 3 "era, - &1 3 St , + P 3 U 3 +
Wé{?h'(ﬁ, ar

If x means subtraction , - means addition , + means
multiplication and + means +, then

8-12+4%x3+3=?

35 (b) 12
2 (d) 4
The second figure in the first unit of the problem figure a

certain relationship to the first figure , similarly, one of the
figure in the answer figures bears the same relationship to
the first figure in the second unit of the problem figures ,
you have to select that figure from the set of answer figures
which would come in the place of question mark (?)

AT B Ugel 3H1E § gORT TP ST Ugd 3ihs & forg
e fAfYa Wy 9mar 8, -0 TE, IR F ipsl A @
TP GUET 3idhg DI gl P15 § Ugal MPpfa & g
U GaY IEdT 8, SATUB) TG99 BT gH SR &
3PSl & e W 98 MPfA & Wy g (2) F ®IH

W 3Tl 22 | |
eh| 3] 2

L [{ 1
{0 e

In the given series one word/ one term/one ) number is
missing. Select the correct alternative from the given ones
that will complete the series.

T 3 faa man &, o U@ Wes/u@ ve/ge we
guw 21 fRu e fawedl A | a8t fawew gfe ot ergepa
PRI B

-3,-4/3,1/3,?11/3

(@)
(©

62.

(@)
(©

63.

(@)
(©)

64.

(@)
(©)

65.

(@)
(©

66.

(@)
(©)

67.

(@)
(©

68.

-2 (b) 4/3
2 (d) -4/3
In the given series one word/ one term/one number is

missing. Select the correct alterative from the given ones
that will complete the series.

WWMW%WWWMWWW
g« g1 fou e faweut # & 98t fawey gfe st srgww

PRI B

11,6,?,-7,-15

1 () -1
0 d -3

If SCALDING is coded as HXZOWRMT, then how will PER be
coded as ?

Tfe scALDING B fral HIE A HxzowrMT fRrET SITaT €,
@ PER I ST P | T foraT smeamm?

RFV (b) VFR
KVI (d) QWE

o R fyeret &1 Hey ar' @ 3, A yeR Ut B
ey fraa g 2

Which of the following is related to Water in the same way
as Electricity is related to Wire?

SI9d Bottle (b) STTJug
ST River (d) TTSY Pipe

Frafafea fRe e den yaar & yyame g () &
I R B -1 TS 3wt 2

Which number will come in place of question mark (?) In
the following given number series?

2511232
46 (b) 52
47 (d) 57

PIS UTHT & PINK BT qHo) foraT wraT § 3R BoLT &t
cNms FoRaT wTaT 8, 9 @is ® musT &1 B feram
ST 2

In the code language, PINK is written as QHOJ and BOLT is
written as CNMS, how will MUST be written in that code?
NVIS (b) NTTS

NTRS (d) NITU

S: 7 A, B, ¢, D, £ 3R F Fg B 3R Yg TP TH
JATHPR WTTATHT IS TU S -AD P A g1 ¢, A 3R B
FTAg . FEMRATRAAR DF TR, AP
rarfi R AR 2

Six friends A, B, C, D, E and F are sitting in a closed circle
facing the centre. A is facing D. C is between A and B. F is
between E and A.B is left of D.Who is to the immediate left
of B?

A (b) C

D (d) E

= feu e v 3/ A @ IR o frft yeR A THA®
3R 3 YR TH AYAT e HHE 991 3 ; Afbd TP
3% U & oY 3T TRY | it & 39 et oiep Y yra Y
I
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Four of the five digits below are similar in some way and
thus form a separate group; But there is a number which is
different from the other four. Find that different number.

(@ 15 (b) 63
(c) 143 (d) 257

69. I RARYTRFIE, RegTRABAAATE 8 2

What number of educated males who are not live in city?

‘O e & ok A\ faftr
1 gow (] rafer atardr
12 6

N

11 9
/5 N\
(@) 4 (b) 11
(c) 5 (d) 9

70. - ud® Y/ 9gg ¥ 3 a1 9 HYT 3R Iqd 91¢
Y frepd | 3R 1 fRw e &1 smuse! few e & Syt Y
I AT €, WA g 3 gdgrd af ) R 8, =l
freput o1 ufen, = 9a Fifore fr Fia a1 fAepd fog
T YA BT THWE FU A TV HaT 8, Q0
gayTa aa $ Wl
Y= g fFasfrarR e |
AN ISHWE |

I ﬂﬁiﬁl@’r@tﬁﬁﬂﬁ%l

In each question / question group below are given two or
three statements followed by two conclusions | and Il. You
have to take both the given statements to be true even if
they are different from the commonly known facts, read
both the conclusions, then decide which of the given
conclusions logically follows from the given statements,
irrespective of the commonly known facts.

Statements:

All windows are houses.

All roads are houses.

Some houses are Hills.

Conclusions:

I. Some hills are windows.

Il. No Hills are window.

(a) T Had ThY | SR (b) Tl FHad By 1 SR
Eb_i?ﬂ%l If only conclusion W%I If only conclusion
| follows. Il follows.

(c) afearar e an ) T w18

IRV HRAT G| If either RO HRATS| | If
conclusion | or Il follows. neither conclusion | nor Il
follows. .
71. 3R 1 9GH, 1972 HIEAR 8 Yt 1 9GS, 1973 B B -

arfeasme

If January 1, 1972 was a Tuesday, What was the day of the

week January 1, 1973 ?

Mob. - 01141676717,9312712114

(a) AR Monday
(c) HITAAR Tuesday

(b) FYAR Wednesday

(d) JBHWIAAR Thursday

72. S+ P13 UIT, - BT AT NS, x BT 3 werg ok =+
HT AU EY, ) 18x12+4 -8+ 2 BITAARTERN ?
If + means division , - means addition, x means subtraction
and + means multiplication , then value of 18 x 12 +4 -8

+2is-
(@) 216 (b) 31
(c) 04 (d) TR Y D3 T8I None of

these

73. The second figure in the first unit of the problem figure a

certain relationship to the first figure , similarly, one of the
figure in the answer figures bears the same relationship to
the first figure in the second unit of the problem figures ,
you have to select that figure from the set of answer figures
which would come in the place of question mark (?)
THET B Ugel 3PS W gORT 3 ST Ugd 3Hidpe P forg
o fAfya Jay ga1ar 8, 3301 @RE, SR P AipsI A A
TS AT s DI gal SHIS | Ugal TP ¥ fre
U Y TGdT 7, MUB] TG HIAT §RT SR &
3PSl & Te A I8 AMPfd ol YYD g (2) F =F
TR AT B2

WIS
(@) ﬂl (b) ‘j
(©) % (d) V

74. Ifp<r,r<sandt>p, which of the following must be true ?

uﬁp<r,r<séﬁ1t>p,?ﬁﬁﬁmﬁﬁwmﬁ
FUIATE 2
l.Lp<sll.s>T

(@) Only 1 Had | (b) Only 11 Ha Il

(C) Neither Inor I7dl IGEI®  (d) Bothland I GFII3MR I
g B

75. If the letters B, N, O, A, & Z are numbered 1, 2, 3,4 & 5
respectively. Select that combination of numbers so that
letters arranged accordingly, form a meaningful word.
3&R B, N, 0, A 3R z HHI: T-AT3 1, 2, 3, 4 3R 5 B
welXfa wvd B SEnst & IR WA #t g @ifs
aﬁwﬂ? AR &R B AR B TR Yl rsq

|

(a) 1214151
(c) 5152243

(b) 1324254
(d) 4341652

Numerical Ability
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76.

@
(©

717.

@
©

78.

@
©

79.

@
©

80.

@
(©

81.

@
(©

82.

@
(©

24 FEET YT 32 BIP! W BT oI T 8400 §, 3 Teal
TUT 4 G K19 BT e TSI

The cost of 24 bats and 32 hockey steaks is Rs. 8400, what
will be the cost of 3 bats and 4 hockey steaks?

¥ 2100 Rs 2100 (b) ¥=4200Rs 4200

1050 Rs 1050 (d) 3TH I B3 T8I None of
these

110 TYUT 120 & St fraeit SIUTST TR & 2

How many prime numbers are there between 110 and 120?

0 (b) 1

2 (d) 3

e RurEl fordt 9k &1 dieT #v T8T § 9uT IR | 100

Hiex W13 31 afe Rurdt aur 9k &) arel &1 U 5 : 4
B, @ UhS oM W IR forasit g8t aa S g@1 g 2

A soldier is chasing a thief and is 100 meters behind the
thief. If the ratio of the speed of the soldier and thief is 5: 4,
then the distance covered by the thief before been caught
is ?

80 ﬂ CX 80 meters
400 ﬂ <X 400 meters

(b) 200 Htex 200 meters
(d) 600 HteR 600 meters

ot g &1 & 900 ® 997 T I @1H S I Bl &
600 ¥ 999 WX g3 T BT AT 8, 39 BT H4 - g
[ELE IR

The profit made by selling an article for Rs. 900 is twice the
loss of selling it for Rs. 600, what is the purchase price of it?
500 Rs 500 (b) ¥680Rs 680

700 Rs 700 (d) STHIADIS 781 None of

these

3= 3 : 4 & AJUTT A § YT 3BT T THTIGA
84 8, T @ 9 ST R RN 2

Two numbers are in the ratio 3: 4 and their least common
multiple is 84, what will be the largest number among
them?

21 (b) 24

28 (d) 84

6 TP MR 4 ARRARI T s A 12 RAF R HRAE, 14
oY 39 BTH Bt 12 e & 1 2 OFd §, 4 afdard 59
P oI fbaq A ¥ e wdft 2

6 men and 4 women complete a work in 12 days, 14 men
can complete this work in 12 days, 4 women can complete
this work in how many days?

a2 e (b) 16fe
211 (d) STHYDR 7ol

TS AAfad 5 fiFe & 600 W @l U Teft #Y UR FHRaT 2
391 AT foplt e 8 2
A person crosses a street of 600 m length in 5 minutes.
What is its velocity in km / h?

3.6 (b) 7.2
8.4 (d) 10

83.

(@)

(©)

84.

(@)
(©)

85.

(@)
(©)

86.

(@)
(©

87.

(@)
(©)

88.

(@)
(©)

89.

(@)
(©

TP HHY P BRI BT IRATY 18 HieX 8 TUT TS TS 3
e 8. 5 FHY B IR laR) 1 7w d fhaar g ?

The perimeter of the floor of a room is 18 meters and its
height is 3 meters. What is the area of four walls of this
room?

219 Hiex 21 square (b)

meters

5497 Hie 54 square (d)

meters

(7°° - 3% )BT SPTS 3ich fpaT R ?

What is the unit digit of (795 -3% )
0 (b) 4
6 (d)y 7

TP SR D T 10 Hex /AHS 8, F9B! 919 fbaq
feioufager®

The speed of a car is 10 m / s, how many km per hour is its
speed?

32 fpHl° /9eT32km /b
40 fpHt° /9140 km / h

42 Hﬁﬁ cX 42 square

meters

108 a1 Hiex 108 square

meters

(b) 36THHI /EeT36km/h
(d) sofdH’/ders0km/h

TF HUST Al & 10 U Hex & qTY FHT R E
12325 ® 145 WeX HUST S=ICT €, TP HieR HUS T HY
e frarg 2

A cloth seller earns a profit of Rs. 10 per meter by selling
145 meters of cloth for for Rs. 12325, what is the purchase
price of one meter of cloth?

=65 Rs 65
=95 Rs 95

fFafafead vy 9 ¥ vl ¥ die W & Rgifeq
Qﬁa:b=3:4ﬂmb:c=8:9@'aa:c=?

Mark the correct answer in each of the following
questions:

ifa:b=3:4andb:c=8:9thena:c=?

1:2 (b) 3:2

1:3 (d) 2:3

6 TSP UT 4 T3 U 1A B 18 fa7 & JuTw H7 9 a &
3 TSP a4T 10 TV fad 39 fvaq R A mr it 2

6 boys or 4 men can finish a work in 18 days, in how many
days will 3 boys and 10 men together complete it?

GmGdays (b) gfas days
12fa712 days (d) Eﬁ@raﬂs‘qﬁ None of

these

T TP 70 foHll / T @1 919 | 12 9¢ § U fAfda gt
T HAT 3| I PR Pt 3HAd 1 F1 8 S A TU
Hew | 120 5 o ghag st 2 2

A truck covers a certain distance in 12 hours at a speed of
70 km / h. What is the average speed of a car that travels
120 km more than the truck in the same time?

56 T /8T 56 km / h (b)y 75 faHl /deT75km /h
80 fo T /8eT 80 km / h (d) 78faHl /deT78km/h

(b) ¥ 75Rs 75
(d) ¥85Rs 85
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90.

@
(©

91.

@)
©

92.

@

©

93.

@
©
94.
@
©

95.
@

(©

96.

@
(©

97.

@
(©

fpa T99 A = 10000 BT ATYRUT TS 6 % TGP &3 I
= 450 g1 ST 2

In what time will the simple interest of Rs 10000 become Rs
450 at the rate of 6% per annum?

8 HIE 8 months (b) 9HIE 9 months
10 HIE 10 months (d) 1aﬁ3q1_s'lyear3

months

COMPUTER

Storage capacity of magnetic disk depends on
e 1a {5 Ft vesru emar fFg w AR st @

(b) tracks per inch of surface

(d) All of the above SR B
g+t

disk pack in disk surface

bits per inch of tracks

The First Mechanical Computer Designed by Charles
Babbage was called?

mﬁ%@amm%mwmﬁ%ﬁw

L=’ (13 Dl STl UT?

Super Computer JUX (b) Abacus EHY

HUIe

Calculator Wﬁ? (d) Analytical Eng_ine

o

In MICR, C stands for

MICR ®, ¢ BT Hdad ?

Code HIS (b) Colour PR
Computer P (d) Character PG
The smallest unit in a digital system is a
ShecafRendasdsdises_ 7
Bit fore (b) Byte §TSC
Character BYFER (d) Kilobyte ICZSIEIE
Merge cells option can be applied from?

Format Cells dialog box (b) Formatting toolbar

Alignment Tab

Both of above SR & &I (d) Noneofaboveé:‘l'»efﬁﬁ_sc
CIEE]

A is a software program used to view Web pages.

TP Aeaa? T g RIer SuaiT a9 i
@ & fore frar s 21
(b) host BRE

site 9IgC
link foi® (d) browser SIT3WR

TP AU TS Pt Sexe MeIDia & fFsRI & T
__faedend wud uuiRa fearmar g

An IP address is defined as a ____ bit number of Internet
Protocol designers.

8 (b) 16
32 (d) 64

98.

(@)
(©

929.

(@)
(©)

100.

(@)
©

Which of the following refers to a small, single-site network

ProffEd & @ 219 @ U o1, ted. e Yook ol
Tefifasears?

LAN (b) DSL

RAM (d) usB

Windows 95, Windows 98, and Windows NT are known as
what?

4t o5, feiet 98 3N Ao T} frud IqgRUI R 2
Processor (b) domain names

modems (d) operating systems

The process of preparing a floppy diskette for use is called
TS Tl fevdbe duR $1 @1 ufbar ot gl
1G]

assembling STETEICHT (b) translating EA'Ha &
parsing iR (d) formatting AT
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